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Answer Key Teacher Notes: Boron & Nitrogen - By changing the number of protons we have in an atom, we
would change the type of atom we have. Carbon-11 & Carbon-13 - By changing the number of neutrons we
have in an atom, we would change the atomic massTopic 1 Key conceptsin chemistry (Edexcel 9-1 GCSE
Chemistry 1, Paper 1, Topic 1 "Key concepts in chemistry") A page of important ideas, concepts and definitions
for chemistry studentsC1.1 The particle model (OCR 9-1 GCSE Gateway Science GCSE CHEMISTRY A 1st
paper, Topic C1 "Particles') Appreciate you can use a particle model to explain the different states of matter.A
group of geologists have drawn my attention to the 2010/2013 Geological Society of London's statement on
climate change and asked if | could arrange an on-line discussion about it.



